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Soru kitapgik numarasinin cevap kagidina kodlanmamasinin veya yanlis kodlanmasinin sorumlulugu adaya aittir.

Bu numarayi cevap kagidindaki ilgili
alana kodlamay! unutmayiniz.
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ACIKLAMA

Bu kitapcikta toplam 80 soru bulunmaktadir.
Bu sinav icin verilen cevaplama siresi 120 dakikadir (2 saat).

Bu test puanlanirken dogru cevaplarinizin sayisindan yanlis cevaplarinizin sayisinin dértte
biri cikarilacak ve kalan sayi bu test ile ilgili ham puaniniz olacaktir.

Kitapgigin sayfalarindaki bos yerleri misvedde icin kullanabilirsiniz.

Cevaplamaya, istediginiz sorudan baslayabilirsiniz. Bir soru ile ilgili cevabinizi, cevap kagidinda o
soru icin ayrilmis olan yere isaretlemeyi unutmayiniz.

Bu kitapcikta yer alan her sorunun sadece bir dogru cevabi vardir. Cevap kagidinda bir soru igin
birden cok cevap yeri isaretlenmisse o soru yanlis cevaplanmis sayilacaktir. isaretlediginiz bir
cevabi degistirmek istediginizde, silme islemini ¢ok iyi yapmaniz gerektigini unutmayiniz.



INGILIZCE

Bu testte 80 soru vardir.

1. - 8. sorularda, ciimlede bos birakilan
yerlere uygun diisen sézciik ya da ifadeyi

bulunuz.

Warming of surface water is leading
to movement of freshwater species
northwards and to higher ----.

A) conversions
C) altitudes

B) queues
D) asteroids
E) frictions

---- use of hand tools that involve force or
twisting can cause damage to the hands,
wrists, or elbows.

A) Intensive B) Ancient
C) Foggy D) Sincere
E) Blind

At one time, Grinnell Glacier in Montana’s
Glacier National Park covered 576 acres,
now it ---- covers 200 acres and may be
gone altogether by the year 2030.

A) mutually B)
C) cleverly D)
E) casually

barely
lightly

Regular exercise helps keep arteries flexible
even in older people. This, in turn, ---- good
blood flow and normal blood pressure.

A) combines B) remains
C) connects D) edits
E) ensures

www.modernenglish.com.tr

Since the dust and sand carry the unique
properties of the region, it can be studied
to ---- more about the region, such as its
climatic conditions.

A) give up
C) find out

B) cutout
D) take away
E) set off

A pure-bred animal ---- to be one whose
ancestry ---- within the same breed for three
generations.

>

moow=

is considered / can be traced

has considered / should trace

can be considered / could be tracing
is being considered / was able to trace
will be considered / has to trace

Camels ---- most common in the African and
Asian deserts, but fossil evidence shows
that camels ---- in North America about 45
million years ago.

) were / will originate

) will be / had originated

) are/ originated

) have been / had originated
) were being / originate

mook>

A job interview is regarded as a very
important appointment, and ---- late is a
major mistake that may cause you ---- that
job opportunity.

A) being/to lose B) to be/lost
C) being/to losing D) tobe/losing
E) being/to be lost
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9. - 15. sorularda, ciimlede bos birakilan
yerlere uygun diisen sdzciik ya da ifadeyi
bulunuz.

13.

Most professional athletes spend a good
part of their lives practising. Basketball
players, ----, spend hours and hours
working on their dribble or jump shot.

9. Inthe last week of July 2001, A) however B) for example
representatives from 178 countries met in C) on the other hand D) suchas
Bonn, Germany, ---- something that is very E) even though
crucial to their future and the survival ----
our planet.

A) in/on B) by/in
C) as/to D) for/ of
E) like/at

10. The effects ---- some vaccines decrease " 14. Some people say that ---- was good enough
---- time, beginning about a year after g for them is also good enough for their
vaccination. © children.

=
A) of/over B) on/on E A) whom B) whether
C) from/in D) to/by é‘) C) what D) where

E) upon/during ) E) notonly

c

o

o

o

S

2

11. Recent findings suggest that stuttering has 2 15, If you are depressed, the Internet can be an
biological ---- emotional or social origins = escape from feelings of depression, but ----
curing it takes a lot of time and effort. time online can make things worse.

A) in spite of B) rather than A) alot B) too much
C) owingto D) aslong as C) as much as D) so little that
E) by the way E) enough

12. ---- aviable solution is found, Venice, it
seems, will continue to be plagued by
floods.

A) Although B) However
C) Once D) Assoon as
E) Until
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16. - 20. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen
s6zclik ya da ifadeyi bulunuz.

21. - 28. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

Almost 20,000 years ago, a group of hunting 21. ldon’t want to break your heart ----.
tribesmen attacked an enormous animal called the
Woolly Mammoth. A (16) ---- battle was fought as the A) but | will have to if you continue to talk like
prehistoric tribesmen armed with spears and stone this
catapults attacked the Mammoth. The Mammoth, B) and I'm sure you didn’t break that
(17) ---- twice the size of a modern African Elephant, glassware on purpose
charged and stomped. And when a spear pierced C) because there were a lot of other people
its heart, it gave one last cry and fell to the ground who were waiting to see her
with a loud thud. (18) ---- the cries of the Mammoth D) which means you can enjoy a long life
died out, a thunder followed. A giant avalanche despite your stomach condition
covered the body of the dying Mammoth and it froze. E) although you promised that you wouldn’t
The body remained (19) ---- a frozen state for many = break her heart
years until it (20) ---- by another group of humans :
S
20,000 years later. o
© 22. |had to switch off my mobile phone ----.
16. <
A) tender B) criminal = A) because more and more people are
C) fierce D) loyal go paying a fortune to buy a new mobile
E) sticky o phone
- B) when | was warned by one of the flight
17 2 attendants for the third time
: o C) since | said there was a lot of delicious
A) however B) almost c food on the trolley
C) through D) despite > D . ,
) while they are busy preparing for the
E) because of = dinner service
2 E) butthe captain said we were about to
18. take off
A) As B) If
C) For D) Asif
E) Asthough
23. One of the major problems that we are
having here is ----.
19.
A) 1o B) like A) how did you manage to change her mind
C) from ) D) by about the schedule
E) in B) we all had some fears and it was difficult
to get over them
20. C) soltold them that | would do my best to
A) discovered solve that problem
B) had discovered D) how long does it take you to pack your
C) had been discovering suitcase before a trip
D) has been discovered E) thatit takes an extremely long time to
E) was discovered make any significant decisions
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32. - 34. sorulari asadidaki parcaya gére
cevaplayiniz.

Amerigo Vespucci was born in 1453 in Florence.

He grew up in a family that worked in the weaving
business. As a boy, he often studied the stars and
dreamed of travelling. At the end of the 15" century,
he started thinking about going on explorations. In a
series of four voyages starting in 1497, he travelled
to the islands off the South American coast and got
to the eastern tip of today’s Brazil. He was convinced
that the land that he saw belonged to Portugal rather
than Spain because of a proclamation by the Pope.
Little is known about these voyages because there
are no notes or journals. When he came back to
Spain, he set up a school for navigators. He wrote a
book called Four Voyages in which he claims he was
the true discoverer of the New World.

32. It can be understood from the passage that

Amerigo Vespucci ----.

www.modernenglish.com.tr

33. Which of the following is true according to
the passage?

A)  There are many vastly different claims about
Vespucci’s voyages.

B) Contrary to popular belief, the name
‘America’ is not named after Amerigo
Vespucci.

C) He based his claim about the new land he
had seen on a statement by the Pope.

D)  Four Voyages is still one of the reference
books for many navigators today.

E) Amerigo Vespucci passed away not long

after completing his book Four Voyages.

34. One can conclude from the passage that
the New World ----.

A) falsely claimed to have discovered a region A)  was a place foretold in religious texts to be
that had already been discovered by discovered in the future
someone else B) was a region unknown to anyone until it was
B) was commissioned by the Pope to explore discovered by Amerigo Vespucci
the coasts of South America C) was actually discovered by Vespucci
C) trained the world’s most renowned explorers although some say otherwise
at the school he established D) s a place where there are speculations
D) had no trouble financing his travels thanks about who the real discoverer was
to his family’s wealth E) s a collective term for present-day Brazil
E) pursued his childhood dream for most of his and the islands off the coast of South
life America
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38. - 40. sorulari asadidaki parcaya gére
cevaplayiniz.

Vikings liked fighting. They were very brave and liked
adventures, but they could also be very brutal. Many
Europeans feared them. When Vikings invaded a
new territory, they usually came with a few hundred
ships and thousands of warriors. Sometimes, they
landed with only a few ships, raided villages and
quickly disappeared. Vikings were famous for their
surprise attacks. They could row their light boats

into shallow rivers and overrun their victims so fast
that they had no chance of defending themselves.
Vikings fought with axes, bows and arrows. They
used both hands to swing their broad axe at an
enemy. Most warriors carried round wooden shields
to protect themselves. They also wore helmets made
of leather.

38. Which can be said about the Vikings?
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39. Which could be understood from the
passage?
A)  The weapons used by the Vikings were
quite primitive compared to today’s
weapons.

B) The Vikings’ ‘attack and disappear’ tactic is
still used by some armies today.

C) The Vikings have never lost a battle
throughout history.

D) Repelling a Viking attack was possible with
some simple methods.

E) The helmets used by the Vikings are

referred to in literature as Viking helmets.

40. What is the passage mainly about?

A)  They had once dominated all of Europe, and A)  How to defeat a Viking
even some regions outside of Europe. B)  The Vikings’ naval force

B) They were renowned across Europe for C) European victims of the Vikings
their martial skills. D) The Vikings as fearsome warriors

C) They had the most powerful fleet and E) The battles fought by the Vikings
weapons of their time.

D) Once, there was no other nation with more
ships than the Vikings.

E) Inthe past, only the Vikings had ships that
could anchor in rivers.
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42. According to the passage, consumers ----.
41. - 43. sorulari asadidaki parcaya gére
cevaplayiniz. A) should avoid eating a lot of beef
B) want their governments to control meat
prices
Beef production damages the environment around C) do not care about starving people
ten times more than the production of pork, lamb, because they think they are not good for
chicken or other farm animals. Scientists say cows the environment
need 28 times more land and 11 times more water D) have reduced their red meat consumption
than pigs, sheep or chickens. They also produce by fifty percent
a lot of greenhouse gas after they eat. Farming E) know nothing about greenhouse gases;
of livestock and crops is a major cause of global therefore, they consume sheep meat
warming. It causes 15 per cent of all greenhouse
gases. About half of this is from livestock. A scientist
said we could all reduce our carbon footprint by

eating less beef. He said cutting down on the amount

of beef we eat is better for the environment than =
using the car less. He also said that if we ate less E
beef, we could use the wheat that farmers give to o
cows to feed starving people. He said this sounds et
simple, but many governments do not try to do it. <
He added, “The message for the consumer is even =
stronger. Avoiding excessive meat consumption, é"
especially beef, is good for the environment.” qc)
o
o
o
S
2
2
41. According to the passage, which of the s 43. It is clear from the passage that the
following is true about cows? production of pork, lamb, and chicken ----.
A)  They reduce the amount of greenhouse A) has been banned in some countries due
gases if we increase the amount of wheat to the harm it causes
we give them B) can be made more profitable in the near
B) They need much less water than pigs, future
sheep and chickens C) used to cause more harm to the
C) They will need a lot more land in environment
the future as they produce a lot of D) causes less damage to the environment
greenhouse gas than beef production
D) They contribute a considerable amount to E) is not responsible for any damage to the
global warming environment
E) They seem to be a good solution to global
warming
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66. The links on websites can provide 67. The temperature of the body is a
interconnected information that is much trustworthy indicator of general physical
more practical to use than a library of condition; hence, in all hospitals the
printed books. body temperature of patients is carefully

measured at certain intervals.

A)  Web sitelerindeki linkler, kullanmasi, basili
kitaplardan olusan bir kitiphaneden ¢ok A)  Vicut sicakhgr genel fiziksel durumun
daha pratik olan birbiriyle baglantili bilgiler guvenilir bir géstergesi oldugu igin tim
saglayabilir. hastanelerde hastalarin viicut sicakligi

B)  Web sitelerindeki linkler birbiriyle duzenli aralklarla dikkatlice élcular.
baglantili bilgiler saglayabilir ve bu B)  Vcut sicakhgi genel fiziksel durumun
linklerin kullanimi, basili kitaplardan guvenilir bir géstergesidir; bu nedenle tim
olusan bir kiitiphaneden ¢ok daha hastanelerde hastalarin viicut sicakligi
pratiktir. duizenli araliklarla dikkatlice él¢ulur.

C) Web sitelerindeki linkler birbiriyle C) Tum hastanelerde hastalarin viicut
baglantil bilgiler oldugu i¢in bu linklerin sicakligi diizenli araliklarla dikkatlice
kullanimi, basih kitaplardan olusan bir - Olcllir clinkl vicut sicakligi genel fiziksel
kituphaneden cok daha pratiktir. K durumun glvenilir bir géstergesidir.

D) Web sitelerindeki linklerin kullanimi, basih g D) Genel fiziksel durumun guvenilir bir
kitaplardan olusan bir kiitiphaneden gok ~ © gostergesi olan vicut sicakhgi, tim
daha pratiktir ¢tinkl bu bilgiler birbiriyle ﬁ hastanelerde diizenli araliklarla dikkatli
baglantihdir. = sekilde Slgulur.

E) Web sitelerindeki linklerin kullanimi, basih é‘) E) Genel fiziksel durumun en guvenilir
kitaplardan olusan bir kitiphaneden ¢ok o gostergelerinden biri olan viicut sicakhgt,
daha pratik olabilir ¢clinkd bu bilgilerin - tim hastanelerde dizenli aralklarla
birbiriyle baglantisi son derece saglamdir. _g dikkatli sekilde lcalar.

o
S
2
2
2
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70. - 75. sorularda, verilen Turkce
cliimleye anlamca en yakin Ingilizce
cliimleyi bulunuz.

71.

ister kilo vermeye ister saglikli bir agirhg
stirdiirmeye c¢aligiyor olun, viicudunuzun
aldigi kaloriler ile viicudunuzun kullandigi
kaloriler arasindaki baglantiyi anlamaniz
6nemli.

70. Arsimet’in fikirleri, 6limiinden sonraki
ytzyillar boyunca batili diigtintirleri A)  Whether you try to lose weight or maintain
etkilemistir ve bugiin eski ¢aglarin en a healthy weight, you must understand
biiylk bilim insanlarindan biri olarak the connection between the calories your
gorilmektedir. body takes in and the calories your body
uses.
A)  Archimedes, whose ideas influenced B)  While you try to lose weight or maintain
western scholars for centuries after a healthy weight, you must remember
his death, is seen today as one of the the connection between the calories your
greatest scientists of ancient times. body takes in and the calories your body
B) Archimedes, who is seen today as one of uses.
the greatest scientists of ancient times, - C) The connection between the calories your
influenced western scholars for centuries ™ body takes in and the calories your body
after his death. S uses is important especially if you try to
C) Regarded as one of the greatest scientists 8 lose weight or maintain a healthy weight.
of ancient times, Archimedes influenced < D) Whether you try to lose weight or maintain
western scholars for centuries after his 2 a healthy weight, it's important for you
death. Y to understand the connection between
D) One of the greatest scientists of ancient QC) the calories your body takes in and the
times, Archimedes influenced western c calories your body uses.
scholars with his ideas for centuries after o E) The connection between the calories your
his death. _8 body takes in and the calories your body
E) Archimedes’ ideas influenced western £ uses is significant especially when you
scholars for centuries after his death and = are trying to lose weight or maintain a
today he is seen as one of the greatest 2 healthy weight.
scientists of ancient times. 2
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74. Biuyuduikce zevkleriniz degisir, bu ylizden ilk 75. insanlarin artan hareketliligi ve yeni
kez denediginizde sevmediginiz yiyecekleri ticaret baglari, kiltirler, dinler ve etnik
artik sevdiginizi kesfedebilirsiniz. ve dil gruplari arasinda daha fazla irtibat
kurulmasina yol acti.
A)  Your tastes change as you grow older, so
you might discover you now like the foods A)  Thanks to the increased mobility of
that you didn't like the first time you tried people and new trade ties, there is more
them. contact between cultures, religions, and
B) As your tastes change as you grow older, ethnic and language groups.
you might find that you now like the foods B) The increased mobility of people and
that you didn't like the first time you tried new trade ties have led to more contact
them. between cultures, religions, and ethnic
C) Since people’s tastes change as they and language groups.
grow older, they might find that they now C) There is more contact between cultures,
like the foods that they didn’t like the first religions, and ethnic and language groups
time they tried them. owing to the increased mobility of people
D) Because your tastes change over time, - and new trade ties.
you might see that you now like the foods = D) The contact between cultures, religions,
that you disliked the first time you tried g and ethnic and language groups has
them. © increased tremendously because of the
E) You know that your tastes change as you < increased mobility of people and new
get older, discovering that you now like = trade ties.
the foods that you used to dislike should go E) More contact between cultures, religions,
not surprise you. B and ethnic and language groups has
- resulted from the increased mobility of
_g people and new trade ties.
o
S
2
2
2
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